
SYLLOGISM:        
THE SELF IS IMPERMANENT BECAUSE IT IS A PRODUCT OF CAUSES. 

PARTS OF THE SYLLOGISM:
SUBJECT:  THE SELF (A)
PREDICATE:  IMPERMANENT (B)
REASON:  BECAUSE IT IS A PRODUCT OF CAUSES (C)
TTHESIS: THE SELF IS IMPERMANENT.

3 CRITERIA FOR A CORRECT SYLLOGISM:
PRESENCE OF THE REASON IN THE SUBJECT: THE SELF IS A PRODUCT OF CAUSES. (C APPLIES TO A; A IS C)
PERVASION: IF IT IS A PRODUCT OF CAUSES, IT MUST BE IMPERMANENT. (IF IT IS C, IT MUST BE B.)
COUNTER-PERVASION: IF IT IS NOT IMPERMANENT (I.E. IF IT IS PERMANENT), IT CANNOT BE A PRODUCT OF CAUSES.
 (IF IT IS NOT B, IT CANNOT BE C.) 


